I Gadaa (s M)

=

i) a0 agd

AY VY alad dy pail) 45 ) gal) g Auliaisl) ddadl)
b | puadgd 2958 | el | gubd] g2 5 2l b ) b P e 7 - "
e = sy | s | 4 Bl | oode | A | A llaay) Adtsl S| Gisgieealt sl i) SiLal)
4(3(2[1| 4] 3| 2| 1] 4| 3 3(2|1|4|3[2| 1] 4| 3] 2 3(2 3(2 3(2|1| 4|3|2|1]|4]3|2[1]4[3|2[1] T °°
0 12 3yl 600 Caiaaally 4lal)
2,160,000 12 5 600 L3 )
350,000 12 5l 600 ool g
1,200,000 G sz Liis 450,000 Craa ) i gudal &l Ll
330.000 12 dasiyg ahy 110
960.000 12 4%, 160 st
240.000 12 {alha 40
1.500.000 12 88 3yl 250
600,000 12 3l 2300 ALY
500.000 12 5l 100 b Tl - Al s luadl)
E‘ ¢ sl
1,200,000 6 16 :—’.i E Jokiall sl
‘ (3
- .r o -
600,000 10 bl 45 e e dJbal) g
100,000 10 3 il 40 _E CICERVISIB RIS
600,000 10 3 il 60 (S L}JJ.\AS‘ <y
200.000 - L 20 21930 e culial) Lite)
400,000 1 il 50 Ly A ma
5,000,000 1 iius 400,000 ada j\ad)
80,000 1 Liius 1000 LAY 3 gusS
55,000 2 dathg 4y 110 Lyl cuilial)
55,000 2 daiyg ot 110 sl B gus
30,000 1 dafhgafiy 110 andi da b
5000 1 5. 200 il 35
500,000 12 Ll 50 daiia) ) g 8
. R lda¥) S paas A i) s
10 Lt 200 .
500,000 ] (Al
18,165,000



